15. 30 people were asked if they wore a blue shirt or a red shirt this week. The Venn diagram shows the
results of the survey.
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What is the missing value in the Venn diagram?

a. 7 c. I8
b. 12 d. 19

16. Look at the map below.
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Which 1s the distance between Kensington and Greenwich?

a. 20‘\]2‘?1111 c. 40‘\]?1111
b. 20\]?1111 d. 40\,Emi

17. A sales clerk earns a 3% commission on each sale. What 1s the commission earned on a sale of $4450?

o

a. $133.5 c. $1335.00
b. $148.33 d  $13.35



15.
l16.
17.

Answers

ANS: A
ANS: B
ANS: A



